
Spiral Slide Assembly - DE-4437 & DE-4437-H

Copyright © 2001 - 2020
SPI Plastics Inc.  All rights reserved
Printed in Canada

In
sta

lla
tio

n
 In

stru
c

tio
n
s

Assembly View

Slide Hood

Sit Down Bar

Spiral Slide Bottom Collar

1/4" - 20 x 2" Torx 
Pin Tek Screw 2 PI.

Center Support Pipe
3.5" Dia. x 132"

3/8" Hex Nut

3/8" Washer

3/8"  x 5 1/2" Hex Bolt

spi@spiplastics.com
www.spiplastics.com

[ ]  800-269-6533 or 519-935-2211T
[ ]  519-935-2174F

165 Stoneman Drive, Box 100
Shallow Lake, ON  N0H 2K0  Canada R



In
sta

lla
tio

n
 In

stru
c

tio
n
s

Figure 1

Figure 2

5
2

 1
/4

"

11 1/8"

7"

Locate Center Support & Slide Leg

14 3/16"

7
2

 1
/2

"

9" Exit Height (Do Not 
Install below 7" or 
above 15")

9
"

2
4

" 3
0
"

Concrete Footing

Protective Ground
Cover

Finish Grade9
"

Spiral Slide Assembly - DE-4437 & DE-4437-H

spi@spiplastics.com
www.spiplastics.com

[ ]  800-269-6533 or 519-935-2211T
[ ]  519-935-2174F

165 Stoneman Drive, Box 100
Shallow Lake, ON  N0H 2K0  Canada R



In
sta

lla
tio

n
 In

stru
c

tio
n
s

Figure 3

Figure 4

Figure 5

3/8" Washer 2 PI.

3/8" x 3/4" Button 
Head Bolt, 2 PI.

Slide Hood

3/8" x 1 1/2" 
Button Head
Bolt, 4 PI.

3/8" 
Washer 4 PI.

Slide

Spiral Slide Assembly - DE-4437 & DE-4437-H

spi@spiplastics.com
www.spiplastics.com

[ ]  800-269-6533 or 519-935-2211T
[ ]  519-935-2174F

165 Stoneman Drive, Box 100
Shallow Lake, ON  N0H 2K0  Canada R


	Page 1
	Page 2
	Page 3

